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MATH 5 SN Name

VECTORS MULTIPLE CHOICE PRETEST
Find the dot product of the given vectors.

1) u={4,-6) 2) u={-1,-3)
v={1,-6) v={(-7,-5)
A) =27 B) 32 A) 22 B) —66
C) 18 D) 33 C) -30 D) 63
3) u={(-6, -8 4) u={5,3)
v=1{6,3) v={5,-9)
A) ~54 B) —60 A) -34 B) -2
C) ~100 D) 22 C) —16 D) 29

Find the measure of the angle between the two vectors.

5) u={-4,9) 6) u={1,-2)
v={8,8) v={5,-7)
A) 15.07° B) 178.62° A) 93.37° B) 130.73°
C) 21.04° D) 8.02° C) 90° D) 8.97°
7) u={9,-9) 8) u=(6, 4)
v= (3, 5) V= (—5, —5)
A) 104.04° B) 75.78° A) 99.46° B) 5.86°
C) 143.71° D) 59.04° C) 101.31° D) 63.43°

Find the projection of u onto v.

9) u=(1,-1) 10) u=4(5,2)
v={1,2) v={3,3)
1 2 44 66
A) 7,0 B) (~— —— A) [— — B) (0, -3
) 67,0 ) (43 ) (2.5 ) 0,-3)
72 4
o (- “’8,——) D) (—5,39 o (ﬂ,-ﬁ) D) (3,—3)
13 13 1717 113° 113 2 2
Statc if the two vectors are parallel, orthogonal, or neither.
1) u={-1,-2) 12) u={5,15)
v={(10, -5) v=_3,1)
A) Neither B) Parallel A) Neither B) Orthogonal

C) Orthogonal C) Parallel



13) u=4(6, -3) 9 27
e us(57)
A) Parallel B) Neither v={-3,-9)
C) Orthogonal A) Neither B) Orthogonal

C) Parallel

Draw @ vector diagram ts find the resultant of each pair of vectors using the triangle method.
Then state the magnitude and direction angle of the resultant,

15) t={(-4, 4 u=(19,5) 16) a=(12,16)b={(1, 17)

A)
/\

a+b

27.02; 2.12°

B) a+h
29.68; 57.38°
B) a
b

11.18; 349.7°

)
b
a+b
29.41; 72.18° a
)

" 20.02; 92.86°
; D)
17.49; 30.96°
D) b
ath
t+u a
t 34.79; 71.57°

27.17; 83.66°

2



Find the component form of the resultant vector.

17) u={18,24) 18) a={9, 7)
Unit vector in the direction of u Unit vector in the direction of a
) (1.0 B (3«/3_4’_5@) ) (9\/130, 7\/130)
34 34 130~ 130
o34 D) V26 526 B) (0,-1)
53 26 26 O <_8\/113 7 113)
o 113 7 13
D) (z«/ﬁ 1 )
13 7 13
19) u={5, 11) 20) u={12,-10)
v={-7,-7) Find: V3 - u
Find: ~u—v A) (36, ~48)
A) (~12,2) B) (12, -4) B) (12/3, —10v/3)
©) (10,-15) D) (-12,22) C) (-25, -35)
D) {8+/3,3/3)
21) u={(-12,4) 22) a={20,21)
Find: -8u Find: 8a
A) (273, -36v3) A) (120, 80)
B) (~5/3,-7V3) B) (160, 168)
C) (96, —32) C) (72,-210)
D) {153, -36/3) D) (302, 40~/2)
23) £=(12,-2) 24) u={7,1)
Find the vector opposite f Find the vector opposite u
A) 7,-11) B) (1, 8) A) 12,-35) B) (-7,-1)
Q) (11,-11) D) (-12,2) C) (-12,6) D) (6,9

Find the following information for each vector, if not provided in the question: Component
form, magnitude.

25) CD where C=(9,-9) D=(4,-3)

A) 5, -6)

61 ~7.81
B) {13, -6)

205 ~ 14.318

C) {5, 6)

61 ~7.81
D) {5, —6)

61 ~7.81



MATH 5 SN Name

VECTORS MULTIPLE CHOICE PRETEST

Find the dot product of the given vectors.

D u={4,-6) 2) u={-1,-3)
v={-1,-6) v={7,-5)
A) =27 B) 32 A) 22 B) —66
C) 18 D) 33 C) -30 D) —63
3) u=(-6,-8) 4) u={5,3)
v={6,3) v={5,-9)
A) —54 *B) —60 A) 34 *B) 2
C) —100 D) 22 C) -16 D) 29

Find the measure of the angle between the two vectors.

5) u={(4,9) 6) u={1,-2)
V= (—8, 8) v= (—~5, ——7)

A) 15.07° B) 178.62° A) 93.37° B) 130.73°
*C) 21.04° D) 8.02° C) 90° D) 8.97°
7) u={9,—9) 8) u={6,—4)

v=_3,5) v={(-5,-5)
A) 104.04° B) 75.78° A) 99.46° B) 5.86°
C) 143.71° D) 59.04° C) 101.31° D) 63.43°

Find the projection of u onto v.

9) u=(1,-1) 10) u=4(5,2)
v=(1,2) v ={-3, 3)
1 2 44 66
A) ~7,0 B) {(—— —-— A) {(—, — B) {0,-3
) (2,0) (43 ) (24,59 ) 0.3
o <__1_@, 2} D) (ﬁ, m) o (77 ,__§§_> 5 <§,_z
13 13 17 17 113° 113 2 2
State if the two vectors are parallel, orthogonal, or neither.
11) u={1,-2) 12) u={-5, 15)
v={10, -5) v=_3,1)
A) Neither B) Parallel A) Neither B) Orthogonal

*C) Orthogonal C) Parallel
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13) u={6,-3) 9 27
A) Parallel B) Neither v={(3,-9)
C) Orthogonal A) Neither B) Orthogonal

*C) Parallel

Draw a vector diagram to find the resultant of ¢ach pair of vectors using the iriangie meihod.
Then state the magnitude and direction angle of the resultant.

15) t={(4,4) u=(19,5) 16) a=(12,16)b={(1,17)
A) A)
n
3 b
t tra o a+b ]
27.02; 2.12°
B)
a+b
29.68; 57.38°
B) a
b
11.18; 349.7°
G
™~
a+b
29.41; 72.18° a
0) :
" 20.02; 92.86°
¢ t+uw D)
17.49; 30.96°
D)
u
t+a
t 34.79; 71.57°

27.17; 83.66°



Find the component form of the resultant vector.

17) u=(18, 24)

18) a={9,7)

Unit vector in the direction of a

A) (1.0) B) (3\/34,_5\/34)
34 34
o (g’ i) D) (‘\/26’ 5\/26)
55 26 ° 26

19) u=(-5,11)

v=_(7-7)

Find: -u —-v
A) (~12,2) B) (12, —4)
C) {10,-15) D) (~12,22)

21) u={(-12,4)
Find: —8u
A) (273, -364/3)
B) (53, -7V/3)
C) (96,-32)

D) (15+/3, -36+/3)

23) £=(12,-2)

Find the vector opposite f
A) 7,-11) B) {1, 8)
C) (11,-11) *D) (~12, 2)

Find the following information for each vector, if not provided in the question: Component

form, magnitude.

25) CD where C=(9,-9) D=(4,
A) {-5,-6)
61 ~7.81
B) {13, -6)
205 ~ 14318
C) (5, 6)
\/a =781
D) {5, -6)
61 ~7.81

Unit vector in the direction of a

A (9@ 7«/?56)

130 ° 130
B) (09 _1>

o (_ §V113 7@)

113 7 113

D) <z 42,_L>
137 13

20) u=(12, -10)

Find: V3 -u
A) {36, —48)
B) (12+/3, -10/3)
C) {-25, -35)

D) (8+/3,3/3)

22) a =20, 21)

Find: 8a
A) (120, 80)
B) {160, 168)
C) {72, -210)

D) (30+/2, —40+/2)

24) u=(7, 1)
Find the vector opposite u
A) (-12,-35) B) {(-7,-1)
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